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# include <stdio.h>

int main() {
printf("Hello World!\n");
return O;

}



#include <stdio.h>
#include <stdlib.h>

#inclu int main() {
inti,n,j;

int mai
orint const char™ const day[12]={"first","second","third","fourth",
retur "fifth","sixth","seventh","eighth",

) "ninth","tenth","eleventh","twelfth"};
const char* const line[11]={"2 Turtle Doves","3 French Hens",
"4 Calling Birds","5 Golden Rings","6 Geese a Laying",
"7 Swans a Swimming","8 Maids a Milking","9 Ladies Dancing",
"10 Lords a Leaping","11 Pipers Piping","12 Drummers Drumming"};
scanf("%d",&n);
for (i=0;i<n;i++) {
if (i>0) printf("\n");
printf("On the %s day of Christmas\n", day[i]);
printf("my true love sent to me:\n");
for (j=12-i; j<12; j++) printf("%s\n", line[11-j]);
if(i==0) printf("A"); else printf("and a");
printf(" Partridge in a Pear Tree\n");

}

return O;



#include <stdio.h>

#include <stdlib.h>

#define MAXNUMBER 20

void rotate(int size, char x[]);

int rotate_n_check(int size, char x[]);

void printPermutation(int size, char datal]);

int checkOutOfOrderCountsK(int size, char data[], int K);

int main(void)
{
int i, num=-1,K=-1;
char digitf MAXNUMBER];
scanf("%d%d", &num,&K);
for (i=0; i<num; i++) digit[i] = i;
do
if (checkOutOfOrderCountsK(num, digit, K))
printPermutation(num, digit);
while (rotate_n_check(num, digit));
return O;



#include <stdio.h>
#include <stdlib.h>
#define MAXLI void rotate(int size, char x[])
void rotate(in] {
int rotate_n_¢ inti;
void printPerr  char tmp = x[size-1];
int checkOutC  for (i=size-1; i>0; i--)
x[i] = x[i-1];
int main(void)  x[0] = tmp;
{ }
int i, num =
char digit[N int rotate_n_check(int size, char data[])
scanf("%d% {
for (i=0; i<n inti;

do for (i=size; i>=2; i--)
if (check( {
printPe rotate(i, data);
while (rotat if (datal[i-1] !=i-1) return 1;
return O; }
} return 0;

}



#tinclude <stdio.h>
#tinclude <stdlib.h>
#define MAXLI void rotate(int size, char x[])
void rotate(in] {
int rotate_n_¢ inti; void printPermutation(int size, char datal])
void printPerr  char tmp = x[si {
int checkOutC  for (i=size-1; i>  static int count=0;
x[i] = x[i-1]; | inti;

int main(void)  x[0] = tmp; for (i=0; i<size-1; i++)

{ } printf("%d ", datali]);
int i, num = printf("%d", data[size-1]);
char digit[V int rotate_n_che,  Printf("\n");
scanf("%d% { }
for (i=0; i<n  inti;
do for (i=size; i>=7 int checkOutOfOrderCountsK(int size, char data[], int K)

if (check(  { {
printPe rotate(i, dati  inti, j, count=0;
while (rotat if (data[i-1] ! for (i=0; i<size; i++)
return 0; } for (j=i+1; j<size; j++)
} return O; if (data[i]>datalj])
} count++;

return count%K==0;

}
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# include <stdio.h>

int main() {
printf("Hello World!'\n");
return O;

}
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# include <stdio.h>

INt | #include <stdio.h>

P int main() {
' printf("l am a novice to programming!\n");
return O;

}

HY
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HEERPGIRE B, s PASM L
# include <stdio.h> ﬁgﬁﬁxﬂb{ I%LEQ

INt | #include <stdio.h>

f‘ int #include <stdio.h>

} P int main() {
'€ printf("FEHTF, 5EL L FEEN\N");
return O;

}



* g

 EEREHGGH RS2 E Y

HEERPGIRE B, s PASM L
# include <stdio.h> ﬁgﬁﬁxﬂﬁl %LE&

INt | #include <stdio.h>

f‘ int #include <stdio.h>

} IE)I int | #include <stdio.h>
P int main() {
J r

char *str = "B & H T, 555 HE7\n"
} printf(str);
return O;

}
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 EEREHGGH RS2 E Y

HEERPGIRE B, s PASM L
# include <stdio.h> ﬁgﬁﬁxﬂﬁl %LE&

INt | #include <stdio.h>

f‘ int #include <stdio.h>

} fel int | #include <stdio.h>
P int el
} . # include <stdio.h>
Y int main() {

char str[] = "B Hr T, 5HZ L HE2\n"
printf(str);
return O;

}
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HEERPYIRE B, 7T I G
# include <stdio.h> ﬁgﬁﬁxﬂb{ IZ?EILEQ

INt | #include <stdio.h>

f‘ int #include <stdio.h>

} fel int | #include <std|o h>
p int —r
! | # mcIude <stdio.h>
} B |nt M #include <stdio.h>
{ “"%int main() {

Pri char str{] =", FEZFEEN\n"
ret . N/ M .

| printf("%s", str);

return O;
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 EEREHGGH RS2 E Y

HEERPGIRE B, s PASM L
# include <stdio.h> ﬁgﬁﬁxﬂb{ %LE&

INt | #include <stdio.h>

P int #include <stdio.h>

oy
} e INt| #include <stdio.h>

P int———"
} r( | #include <stdio.h>

b Int o

# include <stdio.h>
{ “"%int main() {

I char strl] = "B2 37 T, 352 %152 \n"
ret . n n .
printf("%s", str); H
J return O; O
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I include <stdio.h>

int main() {
printf("Hello World!\n");
return O;

}

12



» AR EENER: B —BARA IR FT A HE], (2
ETEEE— A - HEE DR E A /Y
I include <stdio.h>
int main() {
printf("Hello World!\n");
return O;

* BrE IS EAYERA: Fad + B + e + EllE
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I include <stdio.h>

int main() {
printf("Hello World!\n");
return O;
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I include <stdio.h>
int main() {
printf("Hello World!\n");
return O;

}

* BrE IS EAYERA: Fad + B + e + EllE
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void bucketSort(int ndata, int data[]) {
int buckets[8][MAX], nBucket[8];
inti, j, k, index, mult=1, iBucket;
int len = maxNumDigits(ndata, data);
for (i=0; i<len; i++) {
for (j=0; j<8; j++) nBucket[j] = 0;
for (j=0; j<ndata; j++) {
iBucket = data[j] / mult % 8;
buckets[iBucket][nBucket[iBucket]++] = datalj];
}
index = 0;
for (j=0; j<8; j++)
for (k=0; k<nBucket][j]; k++)
data[index++] = buckets][j][k];
mult *=§;
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#include <stdio.h>
#define BING(x,y) ((x)<<y)
#define BANG(x) (1<<x)
#define BOOM 1
int main () {
int x,y,z,w;
int V[3] = {BING(x=227380393,BANG(BOOM)+BOOM), x+(w=BOOM+BANG(BANG(BOOM)),
BING(47*(y=17453197),BO0M)), x+y+BING(w*w*17*185527,BANG(BOOM))}:;
char *p=(char *)V;
while(*(p-BOOM)!=BOOM+BING(BOOM,w)) putchar(*p++);
return O;
} /* Mind the comma operator! */
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AL IR DA% —REBL AR B AN L 2k
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#include <stdio.h>
#define BING(x,y) ((x)<<y)
#define BANG(x) (1<<x)
#define BOOM 1

gq:\>g*++ prog.cpp -0 prog.exe

o q:\>prog
I s ) Hello World!

int x,y,z,w;

int V[3] = {BING(x=227380393,BANG(BOOM)+BOOM), x+(w=BOOM+BANG(BANG(BOOM)),
BING(47*(y=17453197),BO0OM)), x+y+BING(w*w*17*185527,BANG(BOOM))};

char *p=(char *)V;

while(*(p-BOOM)!=BOOM+BING(BOOM,w)) putchar(*p++);

return O;

} /* Mind the comma operator! */




void bucketSort(int ndata, int data[]) {
int buckets[8][MAX], nBucket[8];
inti, j, k, index, mult=1, iBucket;
int len = maxNumDigits(ndata, data);
for (i=0; i<len; i++) {
for (j=0; j<8; j++) nBucket[j] = 0;
for (j=0; j<ndata; j++) {
iBucket = data[j] / mult % 8;
buckets[iBucket][nBucket[iBucket]++] = datalj];
}
index = 0;
for (j=0; j<8; j++)
for (k=0; k<nBucket[j]; k++)
data[index++] = buckets|[j][k];
mult *= 8;
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void bucketSort(int ndata, int data[]) {
int buckets[8][MAX], nBucket[8];
inti, j, k, index, mult=1, iBucket;
int len = maxNumDigits(ndata, data);
for (i=0; i<len; i++) {
for (j=0; j<8; j++) nBucket[j] = 0;
for (j=0; j<ndata; j++) {
iBucket = data[j] / mult % 8;
buckets[iBucket][nBucket[iBucket]++] = datalj];
}
index = 0;
for (j=0; j<8; j++)
for (k=0; k<nBucket[j]; k++)
data[index++] = buckets|[j][k];
mult *= 8;
}
}
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void bucketSort(int ndata, int data[]) {
int buckets[8][MAX], nBucket[8];
inti, j, k, index, mult=1, iBucket;
int len = maxNumDigits(ndata, data);
for (i=0; i<len; i++) {
for (j=0; j<8; j++) nBucket[j] = 0;
for (j=0; j<ndata; j++) {
iBucket = data[j] / mult % 8;
buckets[iBucket][nBucket[iBucket]++] = datalj];
}
index = 0;
for (j=0; j<8; j++)
for (k=0; k<nBucket[j]; k++)
data[index++] = buckets][j][k];
mult *= 8;
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%ET%@*%E void bucketSort(int ndata, int data[]) {
int buckets[8][MAX], nBucket[8];

inti, j, k, index, mult=1, iBucket;
int len = maxNumDigits(ndata, data);
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%%’%Tﬁﬁ*%f void bucketSort(int ndata, int data[]) {
int buckets[8][MAX], nBucket[8];

— B

inti, j, k, index, mult=1, iBucket;
EI/J\@JKEH@ n {E int len = maxNumDigits(ndata, data);
* e.g. 100, 003, 6 for (i=0; i<len; i++) {
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Tﬁ#:*ij: void bucketSort(int ndata, int data[]) {

H/NBIRHELT n A

* e.g. 100, 003, 6
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int buckets[8][MAX], nBucket[8];
inti, j, k, index, mult=1, iBucket;
int len = maxNumDigits(ndata, data);
for (i=0; i<len; i++) {

for (j=0; j<8; j++) nBucket[j] = 0;
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%ET%@*%E void bucketSort(int ndata, int data[]) {

int buckets[8][MAX], nBucket[8];

inti, j, k, index, mult=1, iBucket;
— EEI/J\@Jj(EFﬁ? n {E int len = maxNumDigits(ndata, data);

* e.g. 100, 003, 6 for (i=0; i<len; i++) {

_ éfD |\ = ﬁ{%/\ﬁ”% for (j:=0,' J:<8; j++) r\Bucket[j] =0;
for (j=0; j<ndata; j++) {
0 1 2 n-1 iBucket = data[j] / mult % 8;
100[120 0 buckets[iBucket][nBucket[iBucket]++] = datalj];
1 }
2
003|013 3
4
325 S
°l )
667|027 701
100/120j003[013[328l67)027| 1 [

113



~N o oo WODN ~ O

« HEIE:

A 2R HREZUEIERAYARG

%ET%@*%E void bucketSort(int ndata, int data[]) {

— BH/NEIREET n
* e.g. 100, 003, 6
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0 1 2 n-1
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100[120]003[013[325]667]027| ' [1__

int buckets[8][MAX], nBucket[8];
inti, j, k, index, mult=1, iBucket;
int len = maxNumDigits(ndata, data);
for (i=0; i<len; i++) {
for (j=0; j<8; j++) nBucket[j] = 0;
for (j=0; j<ndata; j++) {
iBucket = data[j] / mult % 8;
buckets[iBucket][nBucket[iBucket]++] = datalj];
}
index = 0;
for (j=0; j<8; j++)
for (k=0; k<nBucket[j]; k++)
data[index++] = buckets][j][k];
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%ET%@*%E void bucketSort(int ndata, int data[]) {

— BH/NEIREET n
* e.g. 100, 003, 6

— A0 T A T2
0 1 2 n-1
100120 0
1
2
003/013 3
4
325 5
6
667|027 7]
100[120]003[013[325]667]027| ' [1__

int buckets[8][MAX], nBucket[8];
inti, j, k, index, mult=1, iBucket;
int len = maxNumDigits(ndata, data);
for (i=0; i<len; i++) {
for (j=0; j<8; j++) nBucket[j] = 0;
for (j=0; j<ndata; j++) {
iBucket = data[j] / mult % 8;
buckets[iBucket][nBucket[iBucket]++] = datalj];
}
index = 0;
for (j=0; j<8; j++)
for (k=0; k<nBucket[j]; k++)
data[index++] = buckets][j][k];
mult *= 8;
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- HEFEUESERE T A Intellisense (MS), Eclipse, Code
completion plugin of Code::Blocks T Z EfE R A= %4
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int 1, num = -1, K = -1;

char digit[MAXNUMBER];

scanf("%d%d", &pun,&K);
|Error:%ﬁﬂﬂﬁi'?ujn"iEfﬁiﬁ
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- HEEREESERE T A Intellisense (MS), Eclipse, Code
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T, PHECSEY, BB A — B sE L Z e

int lf oum = 1Kk =1 for (1=0; 1<num; 1++) digit[1] = 1;
char dig1t[MAXNUMBER] ; do
scanf("%d%d", &nun,&K); if (checkOutOfOrderCount s|)

L

| Error: &AIE "nun" XEE ‘ Error: & RI1E "checkOQutOfOrderCounts" =ZE%&
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int 1, num = -1, K = -1;
char dig1t[MAXNUMBER] ;
scanf("%d%d", &pun,&K);
| Error: 32 RI1E "nun" £E= ‘

- & FERASREH

for (1=0; i1<num; 1++) digit[1] = 1;
do

L

Error: #BI1E "checkOQutOfOrderCounts" ==&
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completion plugin of Code::Blocks 2 Efe I
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1nt lf fum = -1, K =-1; for (1=0; 1<num; 14+) digit[1] = 1;
char digit[MAXNUMBER] ; do
scanf("%d%d", &pun,&K); if (EbiFEQPHDIQIQ?ECPQFEEH
| Error: &AIE "nun” REE ‘ | Error: 5178 "checkOutOfOrderCounts" RE& ‘

%_I: /ilﬁ% do

1f (checkOutOfOrderCountsk(num, digit, K))
int checkOQutOfOrderCountsK(int size, char *data, int K) ‘

— T 1 —

while (r
return 0:
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- HEEREESERE T A Intellisense (MS), Eclipse, Code
completion plugin of Code::Blocks 2 Efe I

T, PHECSEY, BB A — B sE L Z e

1nt lf fum = -1, K =-1; for (1=0; 1<num; 14+) digit[1] = 1;
char dig1t[MAXNUMBER] ; do
scanf("%d%d", &pun.&K); if (checkOutOfOrderCounts|)
| Error: &EIE "nun® REE ‘ | Error: £ BI1E "checkOutOfOrderCounts" =23 ‘
AW
- R EFEEVAEREA
1f (checkOutOfOrderCountsK(num, digit, K))
- g00g|e ‘ int checkOQutOfOrderCountsK(int size, char *data, int K) ‘
while (r _ . -
return 0:
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